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QUESTION 1

What is the effect of a non-graceful virtual machine shutdown on a virtualized server that is connected to a SAN with
Fibre Channel interfaces?

A. NP Port reload connected to the upstream SAN switch

B. out-of-service Fibre Channel interfaces on the SAN switch
C. frames stuck in the storage system

D. frames stuck in the HBA buffer of the server

Correct Answer: B

QUESTION 2
DRAG DROP
Drag and drop the FLOGI parameters from the left onto the descriptions from which they were-derived on the right.

Select and Place:

fWWN V5AN-based sWWN of the NPV device
IP address IP address of the NPV device
symbolic node name fWWN of the F Port on the NPV core switch
nWWN NPV switch name
pWWN fWWN of the NP Port

Correct Answer:
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nWWN

IP address

fWWN ch

symbolic node name

pWWN

Reference: https://www.cisco.com/en/US/docs/storage/san_switches/mds9000/sw/rel_3_x/configuration/guides/cli_3 3_
1/npv.html#wp1502832

QUESTION 3

A storage administrator is configuring inter-VSAN routing on a fabric that contains duplicate domain IDs. Which feature
must be configured to ensure continued operation?

A. auto topology
B. transit VSANs
C. IVR NAT

D. virtual domains

Correct Answer: C

QUESTION 4

Which component is initially responsible for loading the kickstart image on Cisco MDS Switches?
A. ROMMON

B. BIOS

C. NX-0S

D. BASH

Correct Answer: C
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QUESTION 5

Refer to the exhibit.

MDS-A# show run
!Activate Zone Database Section for wvsan 10
zone name Serverll wsan 10
member pwwn 11:11:11:11:11:311:311:11
member pwwn 11:11:11:11:11:11:11:12
zoneset name Zonesetl0-A vsan 10
member Serverll
zoneset activate name Zonesetl(-A wvsan 10

MDS-B# show run
!Activate Zone Database Section for wvsan 10
zone name Serverll wsan 10
member pwwn 11:11:11:11:11:11:11:11
member pwwn 11:11:11:11:11:11:11:12
member pwwn 11:11:11:11:11:11:11:13
zoneset name Zonesetl(0-B wvsan 10
member Serverll
zoneset activate name Zonesetl(-B vsan 10

MDS-A# show interface fel/ll

fcl/11 is trunking (Not All VSANs UP on the trunk)
Port description is *** ISL-Trunk-MDS-B ***
Port mode is TE
Port wsan is 20

Trunk wvsans (admin allowed and actiwve) (10,20)

Trunk wvsans (up) (20)
Trunk wsans (isolated) (10)
Trunk vsans (initializing) ()

MDS-A# show leg

... MD5-A %ZONE-2-Z5 MERGE FULL DATABAE MISMATCH: %SVSAN 10%3 Zone merge full database
mismatch on interface fcl/11 B B

++». MDS-A %ZONE-2-ZS_MERGE FAILED: %SVSAN 10%S Zone merge failure, isolating interface
fcl/11 reason: Member mismatch: [reason:0]

.+s MDS-A 3PORT-5-IF TRUNK DOWN: %SVSAN 10%5 Interface fcl/1ll, wsan 10 is down
{Isoclation due to zone merge failure) *#** ISL-Trunk-MDS-B FCl/11 ***

A storage network engineer gets remote access to two Cisco MDS 9000 Series Switches with an ISL trunk and receives
several log messages. Which set of actions resolve the problem while least affecting service?

A.1.Add:11:11:11:11:11:12:12:13 pwwn in zone Serverll and activate Zoneset10-A on MDS-A.
2. shut/no shut interface fc1/11 on MDS-A.
B. 1. Deactivate zone set Zoneset10-A on MDS-A.

2. shut/no shut interface fc1/11 on MDS-A.
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C.1.Add:11:11:11:11:211:11:11:13 pwwn in zone Serverll and activate Zoneset10-A on MDS-A.
2. Remove VSAN 10 from the allowed VSAN range of interface fc1/11 on MDS-A and add it back in the range.

D. 1. Explicitly import zone set Zoneset10-A on MDS-B using the zoneset import interface import fc1/11 vsan 10
command.

2. Activate the zone set Zoneset10-A.

Correct Answer: A
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